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. propeller turbine ? -

 BHP of the turbine if the head on the turbine/is 18 metres.
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HYDRAULIC TURBINES-III '’

EXERCISE 4

1. What i; a parallel flow turbine ? .
2. Describe with sketches a propeller turbine, |
; . What 1 th di e A 1 2
p 3 . Ts | e difference - between a propeller and a Kaplan
4. What is the advantage of the Kaplan' turbine over the
- 5. Whyisa Kaplan tﬁfbind ref'efred to ' i i
propeller tusbize P _ e ? as a variable pltc'@
6. Howis a Kaplan turbine different from a Francis turbine ?
v o Whaf is speed ratio of 2 Kaplan turbine ? |
8. What 1s flow ratio of a Kaplan turbihe ? -
: 9. Why are hydraulic losses less in a Kaplan«turbine than in
- @ Frapcis turbine? . - : | i
.10, Under what.tbriditiqhs is a Kaplan turbine suited ?
11.  What is the range of specific speed of Kaplan turbines ?

“12. " The velocity of flow for a Kaplan turbine is 825 meires per
- second.  If the diameters of the runner and boss are respectively

45 melres and 1°5 metres, calculate the discharge of the turbine.

o e | _ © (116°63 cumec)
= 10. The -overall efficiency of a propeller turbine is 82%. The
-outer diameter of the runner is 4 mefres and the hub diameter is
1"20 meire. If the velocity of flow is 9'10 mejres per second find the

(249744 hp)

: LI h . i St : 18 ‘melres
— 14. A Kaplan turbine working under. arhead o so
develops 25000 hga at an overall efficiency of 85%. 'I:he_b‘}sgo‘i‘;
meter is 0'3 times the runner diameter. If the Velc}?lﬂt&’ia; s

- 905 metres per second, calculate the discharge and the ;

H1€ runner al:d tl(lszg?;;’éumeo ; Dy—1-35 mietres ; Do= 1°305 metres)

© == 15, A Kaplan turbine develops 58000 hp at an overall efficiency

:;‘ess% under a head of 24 metres. 1f the speed ratio is 1'62 -and

16 flow ratio is 0°5 and the boss diameter isagz 5tﬁzin;§etelée z%nrtﬁ
_;etf', find the diameter of the mnnel(.4»919'metres ; 136°5 rpm)

+*

. ¢ .



